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NAME	DATE	PERIOD

[bookmark: Xbe0bd13d450c6d7397ae54a9a87804f9f4808cc]Unit 2 Lesson 23: Solving Problems with Inequalities in Two Variables
[bookmark: X6d17d4360f662384042c0732b351ce3c02510d0]1 Graphing Inequalities with Technology (Warm up)
[bookmark: student-task-statement]Student Task Statement
Use graphing technology to graph the solution region of each inequality and sketch each graph. Adjust the graphing window as needed to show meaningful information.
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[bookmark: X6a1463f2b2af1ec4343eaec72e4365e69ed9f53]2 Solving Problems with Inequalities in Two Variables
[bookmark: student-task-statement-1]Student Task Statement
Here are three situations. There are two questions about each situation. For each question that you work on:
a. Write an inequality to describe the constraints. Specify what each variable represents.
b. Use graphing technology to graph the inequality. Sketch the solution region on the coordinate plane and label the axes.
c. Name one solution to the inequality and explain what it represents in that situation.
d. Answer the question about the situation.
Bank Accounts
1. A customer opens a checking account and a savings account at a bank. They will deposit a maximum of $600, some in the checking account and some in the savings account. (They might not deposit all of it and keep some of the money as cash.)
· If the customer deposits $200 in their checking account, what can you say about the amount they deposit in their savings account?
1. The bank requires a minimum balance of $50 in the savings account. It does not matter how much money is kept in the checking account.
· If the customer deposits no money in the checking account but is able to maintain both accounts without penalty, what can you say about the amount deposited in the savings account?
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Concert Tickets
1. Two kinds of tickets to an outdoor concert were sold: lawn tickets and seat tickets. Fewer than 400 tickets in total were sold.
· If you know that exactly 100 lawn tickets were sold, what can you say about the number of seat tickets?
1. Lawn tickets cost $30 each and seat tickets cost $50 each. The organizers want to make at least $14,000 from ticket sales.
· If you know that exactly 200 seat tickets were sold, what can you say about the number of lawn tickets?
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Advertising Packages
1. An advertising agency offers two packages for small businesses who need advertising services. A basic package includes only design services. A premium package includes design and promotion. The agency's goal is to sell at least 60 packages in total.
· If the agency sells exactly 45 basic packages, what can you say about the number of premium packages it needs to sell to meet its goal?
1. The basic advertising package has a value of $1,000 and the premium package has a value of $2,500. The goal of the agency is to sell more than $60,000 worth of small-business advertising packages.
· If you know that exactly 10 premium packages were sold, what can you say about the number of basic packages the agency needs to sell to meet its goal?
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[bookmark: Xa40974539bd873f89ecb9360c69412314ad9b76]3 Card Sort: Representations of Inequalities (Optional)
[bookmark: student-task-statement-2]Student Task Statement
Your teacher will give you a set of cards. Take turns with your partner to match a group of 4 cards that contain: a situation, an inequality that represents it, a graph that represents the solution region, and a solution written as a coordinate pair.
For each match that you find, explain to your partner how you know it’s a match.
For each match that your partner finds, listen carefully to their explanation. If you disagree, discuss your thinking and work to reach an agreement.
Record your matches.
Group 1
· situation: perimeter of a rectangle
· inequality:
· a solution:
· sketch of graph:
Group 2
· situation: jar of coins
· inequality:
· a solution:
· sketch of graph:
Group 3
· situation: honey and jam
· inequality:
· a solution:
· sketch of graph:
Group 4
· situation: a school trip
· inequality:
· a solution:
· sketch of graph:
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